C-1209 « C-209 + C-209CS &M+

L

C EARTH TERMINALS

C-209-1 C-209-3 C-209-5

C-1209-15 C-1209-14 C-1209-13

Il + 3
(€)

C-209-31 C-209-32 C-209-33
(C-209-1-2) (C-209-3) (C-209-4-5)
41
50
T i T ‘
‘ ‘ P
o
O _ 1 | T+
; N < 1 17 _ AV
< ML 5 QO [Ja ol
&‘{ L | |
2-M613. U 2-M#a U 2-M#a L
1 r screw screw screw
2-M# U
SCrew 31 —
$AR Copper plate et
N V] —
L | |
« r o e [r'l:‘:’:lj]_g T
EHIROK S
iﬁ?ﬁgﬁ%ﬁfy Ground wire thickness | 10,0 IELY (824
mES HREE()| 3K B Offi | BAK FEOYE | ARRHTERR | Screw nominal size(Min.)
;oHﬂ r@n L I:Il\:Aass Code Price | Quanty per box rated current Nominal diam. Nominal sectional area)
C-209-1 A M10 90 20512 ¥260 200 50LLF 2mm M5
C-209-2 | A M8 90 20513 ¥260 125 51~100 5.5mm? Mé
C-209-3 | A 50 20514 ¥200 250 101~225 14mm? M8
C-209-4 | A 64 37|25 2 M10 74 21190 ¥250 200 226~400 22mm? M10
C-2095 | @ 50123 |21 2 (M6 38 21191 ¥180 350 401~600 38mm?

@ : ROHSIEAHGM A : ROHSIESICHISTIEETT, SRS ETAL, HEBMEIHEHTAL,
HIRRRED 4 %4> — L EERE— #EE B(0568)75-5001 Fax.(0568)77-2200 % & B®(025)274-2500 Fax.(025)274-5700

1212 #& 202 R T B(03)3492-2001 Fax.(03)3492-3001 4L 1% ®(011)846-2001 Fax.(011)846-0900 b= 2(028)627-8001 Fax.(028)627-8000
KX BR B(06)6933-8001 Fax.(06)6933-8000 fili & B(022)235-2101 Fax.(022)283-0110 & #0 B(048)855-3111 Fax.(048)855-8705



EHRF C-1209 * C-209 * C-209CS

z7=uzm C-1209 20 C-209 C-209CS
02260

C

(C-1209-13~15) (C-209-21~25])

L1 L1
L2 L2 (C-1209)
P P + # oM  E:ZFLLER(SUS304)
: | : ‘ | ‘ e EBId$A 7 %/~ (C1100BB)
gl E L \77; L E L L,; o RETE : fAD-F
| {%\ o | | <%\ o | (C-200)
N ‘ P MB L o e#  E: ARIEIER(SPCC)
2-M#n U screw Ef5ERI4$R 7 25— (C1100BB)
screw - o KA E : fAH-E
- [ 1 . [ A & eEAEH-¥X1-EIL
. . [[ - @Z\Ji W8 eiTER.HMLET
T 3.0 (C-1209)
Specifi- ® Material: Stainless steel plate (SUS304)
3.0 . . o
cations Connecting section: Copper
buss ber (C1100BB)
(C-209-31~35) (C-209-41 - 43) e Finish: Copper plating
L 70 (C-209)
Lo R 60 . Specifi- @ Material: Cold rolled steel plate (SPCC)
P P 3-M#a LU 15 15 15 3MBU  cations Connecting section:Copper buss
! screw ! screw bar (C1100BB)
| ‘ | ! 3 e Finish: Copper plating
T @*@gg :7*@ @@/Qa/‘”—’ Specificuse ~ ® Power/distribution boards and cubicles
* % 1 * C 1
| | | - | | | | h
[ | L] [ | ‘ ‘ -
[l T T T 9_ [| T T T T 9
3 3 DR
] ] (€)
Gl O L e lwlH Pt | v BRERQ| I—F | B ffi | #AK (72 X% 4} X441 7] Phillips-standard-head screw
Product No. (RS0 ek e Mass Code Price | Quany per box e | | |, | s | w WK T— KB ] A
@ C-1209-13 | & 4030|1510 |15| 6 |M6| 038 23664 ¥330 Product No. [ZGH Pitch | Code | Price |Quantiyperbox
@ |c1209-14|a| [50/40]20]10|20] 6 [M8] 066 | 23665 | ¥400 © [cascswoxio| @ (10| [ T 1 [23838] ¥20 | 600
@|c-1200-15|a | [60]50]25] 102510 M10] 132 | 23666 | ¥750 © [c20scsusxis| @ | 15 23839| ¥22 | 500
C-209-11 | a 40[30[15[10 15| 5 |[M5] 26 | 21821 | ¥160 © [c209csM6X10| @ | 10 40| 10|12| me 23841 ¥28| 400
C-209-12 | @ 20/30| 1510 15| 3 [M6| 36 | 21822 | v1z0 | 150 | @|C-209CsMeX15| @ | 15 23840) ¥31 | 300
C-209-13 | @ 40[30|15[10[15] 6 [M6| 38 | 21823 | ¥170 © [c20csMaxis| @ | 15 55|13 |1.4| Mg 23842 ¥60| 200
c-209-14 | @ 50|40 (20]10]20] 6 [M8] 66 | 21824 | ¥ed0 g0 | @|c20csMex20| @ | 20 23843| ¥70 | 150
C-209-15 | A 60|50 |25[ 10|25 10|M0] 132 | 21825 | ¥500 20 | @ |cwscsmioxis| @ | 16 70017 | 2.0| M1 | 238441 ¥100 | 150
C-209-21 | A 2013015113 15| 5 [M5| 26 | 21826 | ¥ieo | 500 | &|C-209CsMi0x20| @ | 20 23845| ¥110 | 120
C-209-22 | a 4013011511315 ] 3 |m6 36 21827 ¥130 @ : ROHSHEAMICE A : RoOHSIESICHISAIRETT, BMAE TaW, M BRI TER T,
C20923 |a 40(30(15 13 (15| 6 |M6| 38 | 21828 | ¥i70 | ° (X1 X 54 7) Standard-head screw
. . HmEs .’ Li|Ll2| S |W MXEyF |2 — K | BE ffi| FEAE
C-209-24 | A 5240 |20 |15|20| 6 |M8 72 21829 ¥240 80 Product No. [ Pitch | Code | Price |Quantity per box
C-209-25 | A 60|50 | 25| 15| 25|10 |m10] 135 | 21830 | ¥500 40 C209M5X10 | A | 10| | o w5 123276 ¥
C-209-31 | A 55|45 | 15 15| 5 |M5| 48 | 23538 | ¥200 | 120 C-209-M5X15 | A |15] | 12 23277| ¥29 500
C-209-32 | A 55| 45 [ 15 15| 3 |M6| 36 | 23539 | ¥150 | 120 C200-M6X10 | 4 | 10|, | ' Ve 123278] ¥34
C-209-33 | A 55 | 45 | 15 15| 6 |M6| 52 | 23540 | ¥220 | 120 C-209-M6X15 | A | 15| 23279| ¥36
C-209-34 | A 70| 60 | 20 20| 6 [M8| 88 | 23541 | ¥330 60 C-209-M8X15 | A |15| | |, |0 [28280) ¥7O|
C-209-35 | A 85| 75| 25 2510 |M10| 192 | 23542 | ¥700 30 C-209-M8X20 | A |20~ ) 23281| ¥80
o = H H A
C-209-41 | A 5 [M5] 62 | 23667 | ¥240 | 100 ©-209-M10X16 1610l 17120 w0 [23282]¥110]
C-209-43 | A 6 [Ms| 68 | 23668 | ¥270 C-209-M10X20| A |20 23283 | ¥120
@ : ROHSIESHISE A © RoHSIESICHICRIRETT . BREE T, KIEHAISTHER TV, @ @ ROHSIEAHICHE A © RoHSIRGICHICHETT, BAAE T,  MEEARIAR T,
EHEF AT — 2RIV b " -
Green bolts for earth terminals ZLHE (|7 —)
__/.,Coating range (head green)
W 7 4 ot  H:E$A (C2700W)
‘“\ ‘ ’_‘ o RMEtE 1 7V IV 2L
[ | (J—=>)
| ® Material: Brass bar (C2700W)
e ® Finish: Acrylic resin baked (green)
S ‘ L2 L+
(RAFREAT) (FTAIAFREAT) ~
Standard-head screw  Phillips-standard-head screw
/#3J11 B(03)3683-8000 Fax.(03)3683-0900 /B 7k B(046)230-4001 Fax.(046)230-4000 [5 & B(082)885-2001 Fax.(082)885-0200
NEF B(042)646-3001 Fax.(042)646-3005 B & T(055)929-1001 Fax.(055)929-1000 & @ B(092)511-5000 Fax.(092)511-0095 wa02 1213
JIl 1% B (044)555-2001 Fax.(044)533-8001 T #8 B (075)661-8001 Fax.(075)661-8011 & [E B(82)2-338-0706 Fax.(82)2-338-0704



